Seckions 1.1, 1.2 Parammetric  Curves

Learning Geals

11.1.1 Express/match to a curve as y=f(x) (with direction and | 11.1: 3,5,7,8,11,19,20,21,22,23,24
initial an terminal points) by eliminating the parameter

11.1.2 Draw a parametric curve 11.1: 25

11.1.3 Parameterize a curve 11.1: 30,31,33,37

11.2.1 Find the tangent line to a parametric curve at a given 11.2:5,9,11,14 Also: 43
parameter

11.2.2 Find the first and the second derivative of a parametric | 11.2: 5,11,14

equation

11.2.3 Find the slope of an implicitly defined parametric 11.2: 15,18,19 Also 11.2: 43
curves at a given parameter.

11.2.4 Find an area enclosed by parametric curves 11.2: 21,23

11.2.5 Find the arc length of a parametric curve 11.2: 25,27,29,42 47

11.2.6 Find the surface area of a surface that is generated by | 11.2: 33,34,36,
revolving a parametric curve about either the x or the y axis
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